EARAROBEEIERT — 2 N— IBISH —F

2017868210 (k) 6EEM4H

m B2 ¥7%4m®t ‘ [®1g] & ‘ [BERE] — | 4 (&) 14000 FE
[AE4£] 1 7% :800,000 ™ ~ 23#&:192,000  ~ 33#&:96,000H ~ 43#&:64,000” 5 3&:48,000 @
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e EHEE 27, 3-3-2 |37.8| — ARES ()
1 2 IT4—FIY1 R # 5 50 1(2_7)7 3-3-3-2 37.8 4 (5_050) @fur&%
RV IFTYALR BiL—H =Y
o ZHhH— :28. ~7-6- . = ARE= (ER)
» 3| THY YN H o7 7 (12218/21) 7-7-6-4 | 37.9 7 (4_611) ik
A= hT7 BNYRRXYTTT Ak —8l
> B4 | BEFE 1:28.2 1-1-1-1 | 38.5| — 6 446 | BSER (FHH)
3|55 FIAh-EL 54.0 (3/4) +7) J?ﬁ%li
A TATv— By FIL2N B2 %Y K
= N > 4 | NERE— 1:28.6 5-5-4-5 |38.4| — 1 408 |/ (k)
4810 THT1E—R ) @ 1/2) 42) BEZE
:RU—LYry—Z=— B:/0Fz—37 ) L4
. . FEWEAT :28. —2-2- . — EEFIR (Em)
5lglo|7—747dv K 5 B 1(728t)6 2-2-2-3 | 38.7 2 ig? mE
R:TF—FAFAF =YY BibyyrsIT7Y IVI5IT— I
=8 oS M2V PN :28. -9-10~ . — WHELE (EH
6l1lq]|71>Fnnrk H o9 e 1(218)8 9-9-10-8 | 38.2 9 (413) xﬁgi
RV Ny THY B aTAT J—HrIr—L
. C 5| EFH— . —6-7- - WSS (FH)
; 4| FLINIAT > 5| BT 1(72?:§; 6-6-7-7 | 38.4 8 <5+o11) ks
LY LFTAN—F B:FLTHIFTaY NE77— L
4 5 | THRE 1:29.4 4-4-5-6 |39.3| — 5 479 | B (EE)
8177 FRI/NZTI 54.0 (3 1/2) (-4) bElllE vy
R:FLT /YR BiANT— AiE R
T A — i o5 | REEE 1:29.5 8-8-8-10 |38.9| — 10 | 455 |#EH (FEH)
9(7!8 TyTtEy# .0 (1/2) (+4) (/) 7ora> b
L7217 800 BY=Z—HA KTy T HE77—»4L
> g # o4 | AURE 1:29.9 10-10-9-9 | 38.8 | — 3 481 | BRER3A (M)
EE I 5.0 (2 1/2) 1) | FAHR
R:xFa1zgr—2 B:LF«FF¥2 I 45035
® 1—F—@EBIERL
1T=7r= 5,9,2,7,10,4,3,8,1,6
23—94— 5,9,2,7,10,4,3,8,1,6
Ja=5= 5,9,2,10,7,3,4,8,6,1
40—F— 5,2,9,3,10,7,4,1,6,8
[ N5
B 2 680M 714K 2-3 5,420 e E 2-3 37,810M JEE 2-3-5 55,600
B B 2 220M 2= 1,660 B = 2=3 21,650 EE 2=G-5 616,420/
3 2,130M 3-5 6,150/ B H 2-3 39,770M
5 320M

ABICOVWTRDTEEERROODE. TR LIV,




